ECE-320,
Practice Quiz #6

For all of the following problems, assume we are using a two-sided z-transform.

1) The z-transform of a sequence x(n) is defined as

o0 o0

a) X(z)= Y x(n)z" b) X(z)= > x(n)z™"

k=—0 k=—o0

2) The z-transform of the sequence x(n)=3"u(n) is
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3) The z-transform of X(N) =u(n) jg

z

—— e) none of these
1-z
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4) The z-transform of X(N) =u(n-1) j

z
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a) — b)) — c¢) — d) —— e) none of these
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5) The z-transform of the sequence x(n) =4J(n) is

a) 1 b)z c)z*' d)0 e)none of these

6) The z-transform of the sequence x(n)=06(n-1) is

a) 1 b)z ¢)z*' d)0 e)none of these

7) The z-transform of the sequence x(n) =3""u(n) is
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a) 3z b) 1z C) 12 d) 3 e) none of these
z-3 32— 3z-3 z-3
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8) The z-transform of the sequence x(n) =3""u(n—-1)is
a) 3 b) 3z C) 9z d) 9 e) none of these
z-3 z-3 z-3 z-3

9) The z-transform of the sequence x(n) =3""u(n+1)is

Z2

z-3

z 1 z°
z-3 9z-3

b) % d) % e) none of these

10) The z-transform of the sequence x(n) =2"u(n) converges provided

a) 2<|z| b)|z|<2

11) The z-transform of the sequence x(n) = @Jn u(n—1) converges provided

2) %<|z| b) |z|<%

12) For z-transform Y (z) = 712 , the inverse z-transform is

a) y(n)=2"u(n) b) y(nN)=2""u(n-1) c) y(n)=2""u(n+1) d) y(n)=2""u(n) e)none of these

13) For z-transform Y (z) = LZ , the inverse z-transform is
Z -

2) y(n)%a‘(n)—%z“u(n) b) y(n):—és(n)%fu(n)

Answers: 1b, 2-d, 3-a, 4-b, 5-a, 6-c, 7-b, 8-d, 9-c, 10-a, 11-a, 12-b, 13- b



